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m 4 13, 535 54, 140
B & (b = V-w) Gr-C—4E
m 14 9, 245 129, 430
BEE AN R E K 1
= 1 922, 835
i1 TR A7 vhyh PR R 5,
000m3 A
= 1 14, 495
- 23 - EAma T R




HoOflf =%

THEXy « T - FER - 5 MO LFENAL B G EHAm & T2 (BB

B (L) R - 4. 0mPL |

= 1 9, 895
FEHA (-27) w1550, 000m3 AT

= 1 10, 445
b S T Cadl- ERiRY L&)

= 1 22,075
b S T Cadl- ERiRY L&)

= 1 16, 880
gt 5 AT oaLEE

= 1 5, 555
g e (OE - D) FAITyveTy RC-40 £ 0 & 100

mm

m2 227 421.3 95, 635

FE (FaE - B FAEBRI T AT (20) AfEEIE 50m
m 3. Omtd

m2 227 1,573 357,071
Al AR A TAT 7RSSR SHEERRE 6 c m

m2 230 519.9 119, 577
KA+ H RUEBE S

] 15 5, 095 76, 425
B & (b =N V-w) Gr-C—4E

m 16 9, 406 150, 496
B MRS (O =1 v=0) Gr-C—4E

m 16 1,156 18, 496
IR B R HER F T

m 10 1,357 13, 570
G T 2SS HER F T

m 10 1,222 12, 220

fEHAE IR T
= 1 679, 789
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NAWA

i

£

TRy - T - A% - A5 MO LFENAL B A CHAMm & E (GRS
Heko T
(A)
T 1 28, 654 28, 654
Heko T
(B)
T 3 14, 294 42, 882
Heko T
(©)
T 1 20, 580 20, 580
HURR Sy AT B E 2 B 104K
VN 7 21, 904 153, 328
ANt 3 0. 8mPA 1. OmEL T 18-8-40 (#Ei4F)
m3 0. 84, 221 33, 688
ARG TAT 7V MHZERR 15emBl
m 6 543. 3, 259
iR TAT 7RSSR SHEERRE 5 e m
m2 3 521. 1,565
PRauRiiig TAT 7V bk
m3 0. 1, 105 110
ALY TAT 7V bk
m3 0. 2,393 239
N & e (OE - D) FAITyveTy RC-40 £ 0 & 100
mm
m2 1 422. 422
FE (FaE - B RS R T A2 (20) &S 50mm
LoAmoRim (UEY Y S R B
50mmPL )
m2 1 2,474 2,474
Bk b defe
T 1 12, 331 12, 331
PR Y B
= 1 3, 740
MR L +wh
= 1 3, 364
- 25 - EAma T R




NAWA

i

£

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & TE (B ESM)
TR B300
m 3 51, 706 155, 118
T FEWTRITES00 A 77 V17" % T-25
FE RV NEE
e 3 39, 078 117, 234
7" VA ME K 300/f] 300X300X745 J V—F/)°
ZE(T-25¥%@H) &L
T 1 93, 229 93, 229
(ol VU ¢ 150
m 3 2,524 7,572
FHIK T
= 1 902, 702
Fa7KER i ARIE - W5
= 1 902, 702
MR A TR T
= 1 370, 779
PEAR AT H (it LED ficfRak i
= 1 305, 519
T e ¢ 800 EEHUfI(7
H 1 65, 260 65, 260
B TR
= 1 175, 121, 637
B SElTE:
= 1 44, 731, 537
IR
= 1 27, 828, 904
TR
= 1 8, 333, 903
R R R
= 1 115, 726
- 26 - EAma T R




HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TR B o MR ST A
= 1 5, 965, 285
IERA TR
Y 0 0
IERA TR
= 1 2,252, 892
el E
= 1 5,532, 720
AR E =
= 1 184, 680
EcawicAlE
= 1 218, 340
%N
= 1 321, 522
ey
= 1 921, 537
WAL
= 1 262, 375
IR ALY
= 1 192, 048
ARG T
= 1 3, 382, 226
PEEFEFE Y AL BR [ SN
m3 6 8, 332 49, 992
(e
= 1 9, 045, 661
&)
= 1 8,372, 159
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
FHKREEARR 4 ¢ 25mm
= 1 6,915
KB FE 5y 4 ¢ 25mm
= 1 666, 587
et By
= 1 1, 687, 372
B R FEART e
= 1 46, 361
A m b H R B
= 1 6, 668
PR5FE B (ICT)
= 1 14, 165
VAT (ICT)
= 1 1, 064, 639
ST L& « 3IRITa% AT 4
DOYERLE A (ICT)
= 1 555, 489
ot ey
= 1 1, 710, 909
PR MY
= 1 1, 710, 909
BIGREsET (K30
= 1 1,518,339
MR E (FE L)
= 1 16, 902, 633
Wi
= 1 219, 853, 174
B
= 1 63, 286, 970
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)

T AT

= 1 283, 140, 144
— R

= 1 41, 559, 856
TS

= 1 324, 700, 000
THEBLFH Y %H

= 1 32, 470, 000
TH %Gt

= 1 357, 170, 000
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